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THE OPEN UNIVERSITY OF SRI LANKA

CERTIFICATE IN ENTREPRENEURSHIP & SMALL BUS[NESS MANAGEMENT
PROGRAMME

LEVEL 02 ~ FINAL EXAMINATION - 2011 |

MCC 1103 ~ BASIC STATISTICS & ECONOMICS

DURATION — TWO (02) HOURS

Date: 30.10.2011 Time: 10.00 a.m. to 12.00 noon

General Instructions

Answer twa (02) questions from PART *A’ and TWO (2) questions from PART "B’.
2. It is advisable to spend one hour for each part.

Provide answers for each part separately in separate answer books and hand over them

separately.

4, Graph ﬁapers will be provided.

Non programmable calculators are allowed.

6. All questions carry equal marks.

(b)

(c)

Part A

Using the Production Possibility Curve analysis explain the following.
(1) Scarcity and choice.
(i)  Increasing opportunity cost.
(iti}y  Economic growth.
(use illustrations to explain your answer)
' ' {13 marks)

Suppose an economy has the resources to produce food and clathing. If there is a

technological break-through in the production of clothing how will this chanpge

the production possibility curve of the said economy ? Explain using illustrations.
(06 marks)

Explain the difference between Positive and Normative economic analysis using
examples. (06 marks)



(a)

(b)

(c)

(a)

(b)

()

(b)

(c)

(d)

Explain using illustrations
(i) The law of Demand _ R
(i)  The law of Supply _ _ (06 marks)

Using Demand and supply analysis explain the likely changes in the market,

under following given condition. Use illustration '
1) When the price of bread goes up, the impact of that on market for rice.

(ii)  When the price of inputs needed to produce furniture goes up, the impact

of that on market for furniture.
(iii) When the price of bread goes up, the impact of that on market for
Margarine. : ' ) (09 marks)

Using example, explain how your knowledge on demand & supply analysis will
help you in decision making in a small business.

{10 marks)
(1) What are the main characteristics of a Perfecting Competitive market?
(05 marks)

(i)  Are the firms that operate in perfectly competitive market “price takers” or
“price makers” ? Explain. (08 marks)

Using examples explain why the product differentiation and Advertising are
important for a firm that operates in a monopolistically competitive market ?

(12 marks)
Part B
Solve : x4 x,1 (05 marks)
39 9 3
Solve : X33 (05 marks)
-1 4 ‘
Evaluate : I 7 (05 marks)

Evaluate : Evaluate (3.7)? by considering 3.7 as (3 + 0.7) (05 marks}

]



(@ If x=2, y=3, and z=4 find the valuc of;

It +3y" 2" +3

05 mark:
(x—2) 4z (05 mar S)_
(H Solve
Tx-2y =27 '
Y (05 marks)
2x-y =9
(@) Simplify  —(x—I)+4(2x+3) (05 marks)
(h)  Factorises: 2a° — 250 (05 marks)

The following table shows the number of hand phones sold by a businessman in 40 days.

3 8 10 9 7 5 2 6
4 6 0 5 6 5 4 5
7 7 5 4 5 1 3 6
9 3 4 2 3 2 9 7
1 2 6 1 0 8 7 10
(a) Construct an ungrouped frequency distribution. (10 marks)
(b)  Draw asuitable diagram to represent the above data. (15 marks)
(c) Compute;
{i) Arithmetic Mean (10 marks)
(ii) Standard Deviation . (10 marks}
(iii)  Explain what did you understand by the above calculations.
(15 marks)
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